# TRIGONOMETRIC FORMULAE VIA TELESCOPING METHOD 

WENCHANG CHU


#### Abstract

Motivated by the Monthly problem \#11515, we prove further interesting formulae for trigonometric series by means of telescoping method.


The Monthly problem \#11515 in [1] asks to evaluate the trigonometric series

$$
\sum_{n=1}^{\infty} 4^{n} \sin ^{4}\left(2^{-n} x\right)
$$

In order to highlight the telescopic approach, we reproduce Caro's recent proof. Considering the truncated series defined by

$$
\Omega(m):=\sum_{n=1}^{m} 4^{n} \sin ^{4}\left(2^{-n} x\right)
$$

and then recalling the trigonometric relation

$$
\begin{equation*}
\sin ^{4} x=\sin ^{2} x-\frac{\sin ^{2} 2 x}{4} \tag{1}
\end{equation*}
$$

we may manipulate it as follows

$$
\Omega(m)=\sum_{n=1}^{m}\left\{4^{n} \sin ^{2}\left(2^{-n} x\right)-4^{n-1} \sin ^{2}\left(2^{1-n} x\right)\right\}
$$

Observing that the last sum fits into the telescopic scheme

$$
\Omega(m)=\sum_{n=1}^{m}\left\{\omega_{n}-\omega_{n-1}\right\}=\omega_{m}-\omega_{0} \quad \text { where } \quad \omega_{n}:=4^{n} \sin ^{2}\left(2^{-n} x\right)
$$

we get it evaluated in the following closed form

$$
\Omega(m)=4^{m} \sin ^{2}\left(2^{-m} x\right)-\sin ^{2} x
$$

This is, in fact, a known result, which can be found in Gradshteyn-Ryzhik [3, 1.362.1, P37]. Then the limiting case $m \rightarrow \infty$ of $\Omega(m)$ leads to the closed expression

$$
\begin{equation*}
\sum_{n=1}^{\infty} 4^{n} \sin ^{4}\left(2^{-n} x\right)=x^{2}-\sin ^{2} x \tag{2}
\end{equation*}
$$

This solution is not an isolated example. In fact, the same approach can be employed to establish further similar trigonometric series formulae, including three known ones. The objective of this short paper is to present them in details.
§1. Define the finite trigonometric sum by

$$
A(m):=\sum_{n=1}^{m} \frac{\sin ^{4}\left(2^{n} x\right)}{4^{n}} \text { and } a_{n}:=\frac{\sin ^{2}\left(2^{n} x\right)}{4^{n}}
$$

According to the equality (1), we may analogously rewrite it as

$$
A(m)=\sum_{n=1}^{m}\left\{\frac{\sin ^{2}\left(2^{n} x\right)}{4^{n}}-\frac{\sin ^{2}\left(2^{n+1} x\right)}{4^{n+1}}\right\}
$$

and then evaluate it by telescoping as follows

$$
\begin{aligned}
A(m) & =\sum_{n=1}^{m}\left\{a_{n}-a_{n+1}\right\}=a_{1}-a_{m+1} \\
& =\frac{\sin ^{2} 2 x}{4}-\frac{\sin ^{2}\left(2^{m+1} x\right)}{4^{m+1}}
\end{aligned}
$$

Its limiting case $m \rightarrow \infty$ results in another trigonometric series identity

$$
\begin{equation*}
\sum_{n=1}^{\infty} \frac{\sin ^{4}\left(2^{n} x\right)}{4^{n}}=\frac{\sin ^{2} 2 x}{4}=\sin ^{2} x \cos ^{2} x \tag{3}
\end{equation*}
$$

§2. Define the finite trigonometric sum by

$$
B(m):=\sum_{n=1}^{m} \frac{\cos ^{4}\left(2^{n} x\right)}{(-4)^{n}} \quad \text { and } \quad b_{n}:=\frac{\cos \left(2^{n} x\right)}{(-4)^{n}}
$$

In view of the trigonometric relation

$$
\begin{equation*}
8 \cos ^{4} x=3+\cos 4 x+4 \cos 2 x \tag{4}
\end{equation*}
$$

we may express $B(m)$ as

$$
B(m)=2 \sum_{n=1}^{m}\left\{\frac{\cos \left(2^{n+2} x\right)}{(-4)^{n+2}}-\frac{\cos \left(2^{n+1} x\right)}{(-4)^{n+1}}\right\}+\frac{3}{8} \sum_{n=1}^{m}\left(\frac{-1}{4}\right)^{n}
$$

and evaluate it by telescoping as follows:

$$
\begin{aligned}
B(m) & =2 \sum_{n=1}^{m}\left\{b_{n+2}-b_{n+1}\right\}+\frac{3}{40}\left\{\frac{1}{(-4)^{m}}-1\right\} \\
& =2\left\{b_{m+2}-b_{2}\right\}+\frac{3}{40}\left\{\frac{1}{(-4)^{m}}-1\right\} \\
& =2\left\{\frac{\cos \left(2^{m+2} x\right)}{(-4)^{m+2}}-\frac{\cos 4 x}{16}\right\}+\frac{3}{40}\left\{\frac{1}{(-4)^{m}}-1\right\} .
\end{aligned}
$$

Its limiting case $m \rightarrow \infty$ gives the following trigonometric series identity

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left(\frac{-1}{4}\right)^{n} \cos ^{4}\left(2^{n} x\right)=-\frac{3}{40}-\frac{\cos 4 x}{8} \tag{5}
\end{equation*}
$$

We remark that for equation (4), there is a companion relation

$$
\begin{equation*}
8 \sin ^{4} x=3+\cos 4 x-4 \cos 2 x \tag{6}
\end{equation*}
$$

This was utilized in the initial version of this paper to show both (2) and (3). But the proofs are less elegant than that due to Caro [1].
§3. Define the finite trigonometric sum by

$$
C(m):=\sum_{n=1}^{m} 3^{n} \sin ^{3}\left(3^{-n} x\right) \quad \text { and } \quad c_{n}:=3^{n} \sin \left(3^{-n} x\right)
$$

By invoking the trigonometric relation

$$
\begin{equation*}
4 \sin ^{3} x=3 \sin x-\sin 3 x \tag{7}
\end{equation*}
$$

we may reformulate $C(m)$ as

$$
C(m)=\frac{3}{4} \sum_{n=1}^{m}\left\{3^{n} \sin \left(3^{-n} x\right)-3^{n-1} \sin \left(3^{1-n} x\right)\right\}
$$

and then evaluate it, in closed form, by telescoping as

$$
\begin{aligned}
C(m) & =\frac{3}{4} \sum_{n=1}^{m}\left\{c_{n}-c_{n-1}\right\}=\frac{3}{4}\left\{c_{m}-c_{0}\right\} \\
& =\frac{3}{4}\left\{3^{m} \sin \left(3^{-m} x\right)-\sin x\right\} .
\end{aligned}
$$

Its limiting case $m \rightarrow \infty$ yields the following trigonometric series identity

$$
\begin{equation*}
\sum_{n=1}^{\infty} 3^{n} \sin ^{3}\left(3^{-n} x\right)=\frac{3}{4}\{x-\sin x\} \tag{8}
\end{equation*}
$$

Online Journal of Analytic Combinatorics, Issue 11 (2016), \#E1
§4. Define the finite trigonometric sum by

$$
D(m):=\sum_{n=1}^{m} \frac{\sin ^{3}\left(3^{n} x\right)}{3^{n}} \quad \text { and } \quad d_{n}:=\frac{\sin \left(3^{n} x\right)}{3^{n}}
$$

Keeping in mind of the trigonometric equality (7), we may rewrite $D(m)$ as

$$
D(m)=\frac{3}{4} \sum_{n=1}^{m}\left\{\frac{\sin \left(3^{n} x\right)}{3^{n}}-\frac{\sin \left(3^{n+1} x\right)}{3^{n+1}}\right\}
$$

and then evaluate it by telescoping as

$$
\begin{aligned}
D(m) & =\frac{3}{4} \sum_{n=1}^{m}\left\{d_{n}-d_{n+1}\right\}=\frac{3}{4}\left\{d_{1}-d_{m+1}\right\} \\
& =\frac{3}{4}\left\{\frac{\sin 3 x}{3}-\frac{\sin \left(3^{m+1} x\right)}{3^{m+1}}\right\}
\end{aligned}
$$

Its limiting case $m \rightarrow \infty$ results in the following trigonometric series identity

$$
\begin{equation*}
\sum_{n=1}^{\infty} \frac{\sin ^{3}\left(3^{n} x\right)}{3^{n}}=\frac{\sin 3 x}{4} \tag{9}
\end{equation*}
$$

§5. Define the finite trigonometric sum by

$$
E(m):=\sum_{n=1}^{m} \frac{\cos ^{3}\left(3^{n} x\right)}{(-3)^{n}} \quad \text { and } \quad e_{n}:=\frac{\cos \left(3^{n} x\right)}{(-3)^{n}}
$$

Taking into account of the trigonometric equality

$$
\begin{equation*}
4 \cos ^{3} x=3 \cos x+\cos 3 x \tag{10}
\end{equation*}
$$

we may express $E(m)$ as

$$
E(m)=\frac{3}{4} \sum_{n=1}^{m}\left\{\frac{\cos \left(3^{n} x\right)}{(-3)^{n}}-\frac{\cos \left(3^{n+1} x\right)}{(-3)^{n+1}}\right\}
$$

and then evaluate it by telescoping as

$$
\begin{aligned}
E(m) & =\frac{3}{4} \sum_{n=1}^{m}\left\{e_{n}-e_{n+1}\right\}=\frac{3}{4}\left\{e_{1}-e_{m+1}\right\} \\
& =\frac{3}{4}\left\{\frac{\cos 3 x}{-3}-\frac{\cos \left(3^{m+1} x\right)}{(-3)^{m+1}}\right\}
\end{aligned}
$$

Its limiting case $m \rightarrow \infty$ leads to the following trigonometric series identity

$$
\begin{equation*}
\sum_{n=1}^{\infty} \frac{\cos ^{3}\left(3^{n} x\right)}{(-3)^{n}}=-\frac{\cos 3 x}{4} \tag{11}
\end{equation*}
$$

By employing the same approach, we can further review the following three summation formulae of trigonometric functions, whose details will not be produced.

## Gradshteyn-Ryzhik [3, 1.362.2, P38].

Trigonometric relation: $\sec ^{2} x=4 \csc ^{2} 2 x-\csc ^{2} x$;
Finite sum formula: $\quad \sum_{n=1}^{m} \frac{1}{4^{n}} \sec ^{2} \frac{x}{2^{n}}=\csc ^{2} x-\frac{1}{4^{m}} \csc ^{2} \frac{x}{2^{m}}$;
Infinite series identity: $\quad \sum_{n=1}^{\infty} \frac{1}{4^{n}} \sec ^{2} \frac{x}{2^{n}}=\csc ^{2} x-\frac{1}{x^{2}}$.

## Gradshteyn-Ryzhik [3, 1.371.1, P38].

Trigonometric relation: $\tan x=\cot x-2 \cot 2 x$;
Finite sum formula: $\quad \sum_{n=0}^{m} \frac{1}{2^{n}} \tan \frac{x}{2^{n}}=\frac{1}{2^{m}} \cot \frac{x}{2^{m}}-\cot x$;
Infinite series identity: $\quad \sum_{n=0}^{\infty} \frac{1}{2^{n}} \tan \frac{x}{2^{n}}=\frac{1}{x}-\cot x$.

## Gradshteyn-Ryzhik [3, 1.371.2, P38].

Trigonometric relation: $\tan ^{2} x=2-\cot ^{2} x+4 \cot ^{2} 2 x$;

$$
\text { Finite sum formula: } \quad \begin{aligned}
\sum_{n=1}^{m} \frac{1}{4^{n}} & \tan ^{2} \frac{x}{2^{n}}=\frac{2\left(4^{m}-1\right)}{3 \cdot 4^{m}} \\
+\cot ^{2} x & -\frac{1}{4^{m}} \cot ^{2} \frac{x}{2^{m}}
\end{aligned}
$$

Infinite series identity: $\quad \sum_{n=1}^{\infty} \frac{1}{4^{n}} \tan ^{2} \frac{x}{2^{n}}=\cot ^{2} x-\frac{1}{x^{2}}+\frac{2}{3}$.

In general, there may exist summation formulae for the trigonometric series of forms

$$
U(\alpha, \beta):=\sum_{n=1}^{\infty} \alpha^{n} \sin \left(\beta^{n} x\right) \quad \text { and } \quad V(\alpha, \beta):=\sum_{n=1}^{\infty} \alpha^{n} \cos \left(\beta^{n} x\right)
$$

It would be interesting to find other identities than those displayed in this paper.

Before concluding the paper, we present two further groups of infinite series identities involving the arctangent function. Their proofs can be carried out equally by means of the telescopic scheme.
§6. For the inverse tangent function, there is an elementary equality

$$
\arctan x \pm \arctan y=\arctan \frac{x \pm y}{1 \mp x y} \quad \text { where } \quad|x y|<1
$$

This can be employed to evaluate the following infinite series:

$$
\begin{array}{ll}
\sum_{n=1}^{\infty} \arctan \frac{1}{n^{2}+n+1}=\frac{\pi}{4}, & \text { Knopp [8, Exercise 102a] } \\
\sum_{n=1}^{\infty} \arctan \frac{2}{n^{2}}=\frac{3 \pi}{4}, & \text { Knopp [8, Exercise 102b] } \\
\sum_{n=0}^{\infty} \arctan \frac{2}{(2 n+1)^{2}}=\frac{\pi}{2} . & \text { Boros-Moll [2] } \\
\sum_{n=0}^{\infty}(-1)^{n} \arctan \frac{2 n+3}{n^{2}+3 n+1}=\frac{\pi}{4}, & \text { Glasser-Klamkin [5]. }
\end{array}
$$

§7. Recall the Fibonacci numbers defined by

$$
F_{n+1}=F_{n}+F_{n-1} \quad \text { with } \quad F_{1}=F_{2}=1
$$

By combining the Cassini identity

$$
\begin{equation*}
F_{2 n+1}^{2}=1+F_{2 n} F_{2 n+2} \tag{16}
\end{equation*}
$$

with the two inverse trigonometric relations

$$
\left.\begin{array}{l}
\arcsin x=\arctan \frac{x}{\sqrt{1-x^{2}}} \\
\arccos x=\arctan \frac{\sqrt{1-x^{2}}}{x}
\end{array}\right\} \quad \text { where } \quad 0<x<1
$$

the interested reader may try to show the following remarkable formulae:

$$
\begin{array}{ll}
\sum_{n=1}^{\infty} \arctan \frac{1}{F_{2 n+1}}=\frac{\pi}{4}, & \text { Lehmer [7] } \\
\sum_{n=1}^{\infty} \arctan \frac{2 F_{2 n+1}}{F_{2 n} F_{2 n+2}}=\frac{\pi}{2}, & \text { Guillot [6]; } \\
\sum_{n=1}^{\infty} \arcsin \frac{2 F_{2 n+1}}{2+F_{2 n} F_{2 n+2}}=\frac{\pi}{2}, & \text { Guillot [6]; } \\
\sum_{n=1}^{\infty} \arccos \frac{F_{2 n} F_{2 n+2}}{2+F_{2 n} F_{2 n+2}}=\frac{\pi}{2}, & \text { Guillot [6] } \tag{20}
\end{array}
$$

Further infinite series identities concerning the inverse tangent function can be found in $[2,4,9]$.

## References

[1] E. L. Basor, S. N. Evans and K. E. Morrison, Problem 11515, Amer. Math. Monthly 117:6 (2010); Solution by N. Caro, ibid 118:10 (2011), p. 943.
[2] G. Boros \& V. H. Moll, Sums of arctangents and some formulas of Ramanujan, SCIENTIA Series A: Mathematical Sciences, 11 (2005), pp. 13-24.
[3] I. S. Gradshteyn and L. M. Ryzhik, Table of Integrals, Series and Products, Elsevier (Singapore) Pte Ltd. 2004.
[4] R. Frontczak, On infinite series involving Fibonacci numbers, International Journal of Contemporary Mathematical Sciences 10:3 (2015), pp. 363-379.
[5] M. L. Glasser and M. S. Klamkin, On some inverse tangent summations, Fibonacci Quarterly 14:5 (1976), pp. 385-388.
[6] G. A. R. Guillot, Problems, Fibonacci Quarterly 15:3 (1977), pp. 232 \& 257.
[7] D. H. Lehmer, Problem 3801, American Mathematical Monthly 43 (1936), p. 580.
[8] K. Knopp, Theory and Applications of Infinite Series, Hafner Publishing Company, New York, 1928.
[9] A. Sarkar, The sum of arctangents of reciprocal squares, Amer. Math. Monthly 98 (1990), pp. 652-653.

Online Journal of Analytic Combinatorics, Issue 11 (2016), \#E1

Except where otherwise noted, content in this article is licensed under a Creative Commons Attribution 4.0 International license.

Dipartimento di Matematica e Fisica "Ennio de Giorgi" Universitì del Salento, Lecce-Arnesano P. O. Box 193
Lecce 73100, ITALY

E-mail address: chu.wenchang@unisalento.it

